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Q:1 (10 points) Find an equation of the plane passing through the line of intersection of the
planes t +y+ 2 =1, 2z —y+ 2z = 2 and contains the point P(1,2,3).
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Q:2 (a) (04 points) Find the point of intersection of the plane 2z +y — 3z = 7 and the line
r=1-2t, y=2+4+1t, z=1+1.
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(b) (04 points) Find the distance between the parallel planes 2+2y—z = 4 and 2z+4y—2z = 3.
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Q:3 (}4 points) Consider the surface 2%+ 2° — 2z +6z —y +10=0.
(a) Reduce the equation to one of the standard forms.
(b) Classify the surface (name, vertex, axis).
(¢c) Find the traces on the three coordinates planes.

(d) Sketch the surface.
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Q:4 Let f(z,y) = /22 — 42 + V1— 22

(a) (08 points) Find and sketch the domain of f.
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(b) (04 points) Find an equation for the level curve of the function f(z,y) through the
point (1,0).
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(Q:5) (a) (10 points) Find the limit, if it exists,
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(b) (04 points) Determine the set of points at which the function

1s continous.
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2 .
Q:6 (a) (06 points) If s(u,v,w) = u tan™" (v w), find 82;10(0? 1,2)
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(b) (08 points) Let u = pg + In r,, where
2
p:%j qg=1vy-+zand7r =zxz.

Use the Chain Rule to find the valucs of % and % at (z,y,2z) = (1,1, -2).
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Q:7 (a) (06 points) Find an equation of the tangent plane to the surtace

1
f('l’:ly) :1’2 _BJJU | 2y2_|_3

at the point (2,2, —3).
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(b) (08 points) Find the linearization of the function g(z,y) = €Y~ at (2,1) and use it to
approximate ¢(1.95,1.05).

o
Ca:x; = ._éaﬂx') %1(3/\) = - =-
2g-X }
c}‘ar = d € ) %acaj\) = 2
‘8(3,1): 1

LCXY) = 1 (x-2)y+2(9-D+1
= =X+ AW+
Y C1as5,105) >~ a5 £2.]+)
= 115




MATH 201 EXAM II (Term 163) Page 9 of 9

Q:8 a (08 points) Let f(z,y) = z*—xy+y°—y. Find the unit vector u such that D,f(1,-1)=0.
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(b) (06 points) Find the parametric equations for the normal line to the surface ryz =6
at the point (3,2, 1).
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